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I nmwn: Various details about nano
a  Who: all perform n2nvo except for v"wn, blind, non-Jew, slave, agent or wife (for her husband'’s offering)
i rwn they are non compos mentis
ii  Blind: dispute 7R 72 pn¥’ "/RTON "7
1 Inferred from 7797 2231 source for NN is ¥"w 127 0YYN 19, and 771 is called "nTYn Y~
2 Inferred from 787 151y blind are exempt from 17X N, per NRI%::IRY
(a) Note: preference over nTyn Mpt — applying T 127p to N’ 127p
(b) Note: preference for nTyn "p1 — NINO is explicit there; n”R7 Ny inferred from nam Ny (v. 2) viav. 1
iii  Non-Jew: namv introduced (1:8 X1pn) with Y87w? 13; limited to Jews
iv  Slave, agent, wife: v (v. 2) excludes all three
1 Justification: if we only excluded 72p,we would reason that he is not a (full) mxn 72
(a) And:if we only excluded 9w, we would reason that we don’t apply 1mn3 R Y9 1MW to WV
(b) But: we wouldn’t apply to wife, where we consider 19112 MWR — 5"np
b Status: n>no is “mxn *PY” - i.e. dispensible
i ap7axv. 2 implies that n2no is the 1990 — but v. 3 makes it clear that 7771 performs that function
1 Explanation: if he regards n>mo as “mxn »v” (insignificant), considered as if he didn’t achieve n193 (he did)
2 Note: parallel notion taught in re: nann on v. 4
¢ Where: on the head
i Source: v. 2 — on the head, and not on the neck, the back or the chest
1 Justification: if we only learned “neck”, we would have permitted the back as it is horizontally even w/head
(a) And: we wouldn’t apply back to chest, as that is waved (nd>wn jn o) - 5"np
2 Question: is the side of the head valid for namvo?
(a) Answer (78722 838): invalid - wRn Y — and not the sides
3 Question (n7 "): does a towel (on the head) generate a n¥¥n (and invalidate the n2nv)?
(a) Answer: indeed — there must be nothing interrupting between his hands and the nar
d  How: with both hands
i Source (57): v. 5 identifies v (20n2) yet states 'nw > all 1" means 2 unless explicitly marking “1”
1  Story: 8™ repeated this in n”a without crediting 5, who took umbrage
(a) 577 challenged him from vv. 6-8 (no response); he then asked him why he didn’t respond that axr 1
only applied to n2no; 8" responded that v. 9 defeats that answer
(i) Defense: v.9 is in re: N2'nv of a person (YW1’); 9™’s 1R 112 was only about nnna nano
e  Location: done in spot where nv'nw is done, as NY'NY N2NOY 9an (i.e. ...an is the reason for the location)
II  n mwn: stringencies of N3nv relative to nann and vice-versa
a  A»pp. all partners must perform n2’nv; one partner may wave for all
b /791m applies to Maxy TN’ N1a7p, alive and after nvnY, living and inanimate — n2no only applies to living animals
I w7272 11297 (see above) includes all partners in 130V, in spite of possible v’p from nann, which applies to PvINY
a  proposal: we should extend to nawnn via 1"p- nann applies to poINW as well, all partners should certainly do nann
b  Answer: impossible; if they hold together, it is a n¥'sn (to each other); can only do one - "nann”, not "mann”
i Challenge: there is n>no with pvINY, per description if 3’12 chooses to bring ©»ar up to nar, he is given each
limb for nyno before throwing on fire
1  Answer: that isn’t formal n3nv, rather done for 3”3 712
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